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Use the grid method to solve: s
33— 425" 5x62= 3xH3= 2l 538 23= Tx31-
Bronze
.. Roll a 1-6 dice and multiply the number 462 by the number
@ on the dice, using the vertical method. If you roll a1,

siver  multiply by 7 instead. Repeat until you have multiplied

462 by every number possible and then they repeat for 278.

When you finish, choose your own three-digit nhumber and repeat.

Answer questions from pg 19 Bk2 using the ladder method.

Gold

EXTENSION:
ﬂ(Remember your presentation needs to be beautiful.



